TABELA ROBOT ZIEMNYCH

. ZUZYCIE
SREDNIA NA NADMIAR SUMA
LP |[KM| HM |POWIERZCHNIA | POWIERZCHNIA| ODL. OBJE,TOSC MIEJSCU| OBJETOSCI ALGEBRAICZNA
wykop (+) | nasyp (-) Jwykop (+)| nasyp (-) wykop (+)[nasyp (-) wykop (+) [nasyp (-)] () ()
m? m? m? m? m m3 m3 m?3 m?3 m3 m3 m?3
P-0 0 0,00 0,00 0,00
1,07 0,04 25,23 26,87 1,01 1,01 25,86 0,00 25,86
P-1 0 25,23 2,13 0,08
2,03 0,11 26,77 54,34 2,94 2,94 51,40 0,00 77,26
P-2 0 52,00 1,93 0,14
1,78 0,33 26,41 47,01 8,72 8,72 38,29 0,00 115,55
P-3 0 78,41 1,63 0,52
1,71 0,64 24,50 41,77 15,68 15,68 26,09 0,00 141,65
P-4 0| 102,91 1,78 0,76
1,77 0,76 23,17 40,90 17,61 17,61 23,29 0,00 164,93
P-5 o[ 126,08 1,75 0,76
1,90 0,67 26,79 50,90 17,95 17,95 32,95 0,00 197,88
P-6 0| 152,87 2,05 0,58
2,10 0,57 41,70 87,36 23,77 23,77 63,59 0,00 261,48
P-7 0 194,57 2,14 0,56
2,26 0,54 20,06 45,34 10,83 10,83 34,50 0,00 295,98
P-8 0| 214,63 2,38 0,52
1,19 0,26 25,32 30,13 6,58 6,58 23,55 0,00 319,53
Pk 0 239,95 0,00 0,00
RAZEM 239,95 424,62 105,09 105,09 319,53 0,00
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